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Special credit will be given for answers which are ‘brief and
to the point. Marks will be deducted for spelling mistakes,
untidiness and bad handwriting. Figures in the margin
indicate full marks for the questions.
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This Question Booklet consists of 28 pages.

This Question Booklet is in three versions — Bengali, English

and Hindi. In case of any doubt or confusion, English version
will prevail.

® Attempt the questions as per the instructions given there in,
Write the answers only in the Main Answer Script, nowhere
else.
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Renlsies eradfia (MCQ) v wifve Seafofes zrftﬁ?‘ﬁa (SAQ) &gT,
Teta 2w (WS QeI TABLE-« Pt =1 |

(TERTaisles 2t )

1x14=14
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(iv) m'cﬁﬂmwmw FQW@WW"WWW?ZE‘T

() 9:3:3:1 (d) 1:2:1.
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(a)  celofer @ syrifer .(b) emT 8 sl

\(9/@ fofetat @ wyifi (d) wmPeRm 8 @aifbim

G T L S S ———

R ?
(a) AAEA m/ o
\ﬁ/j ‘ (d) @t iy wm |

NS-BIOS

4 of 28




B10S-23/X11/2029(04)-NS

(ix) 2T T (I LA SOl 705 T=AAFS ?

@ R wAwre  (b) R S
(c) &S Il (d) TR CICAIDE 73 |

() Ti 2P e w31 @ fafeie @i @6l e ?

(a) Bacillus thuringiensis

\(@/ Agrobacterium tumefaciens
e —E. coli

(d) Mycobacterium bovis.
xi) fAERIRS @I "@fSTe Polio vaccine 2@ 2 ?
(a) Attenuated virus (b) ~© Gt

(c) Surface chemical (d) Toxoid.

(xi) FEFRCstm @Hb ICTCRett TGt T Aweay

. 2N wEsy Aoy ?

( IAATHE Seoo EHT ATWMOT WA FAE v

ICRIES
(b) fRfswH @@ 2w TS
() (a) 932 (b) Toug ARS
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(M/ﬂgﬁ (d) <R
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Rrfoie drafm 2foh @t Sar e (R e smi) -
1x4=4
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The ; ,
spec;lf‘il: St1;>ns related to MCQ and SAQ should be answered in the
printed TABLE accordingly in the Answer Script.

1.

(Multiple Choice Type Questions )

Select and write the correct answer out of the options given

against each question : 1x14=14

(1) The union between a very small motile male gamete and a

large non-motile female gamete is called

(@) Conjugation (b) Anisogamy
(c) Isogamy (d) Oogamy.
(i1) Function of Copper-T is

(a)

(b)

(c)

(d)

to resist ovulation
to resist maturation of ovum
to prevent implantation of fertilized ovum

by suppressing sperm motility reduces the fertilizing

capacity of the sperm.

i:NS-BIOSl 11 of 28




(iiij Which one of the follow

- (i)

(vi)

prOS-23/X11/2029(04)-NS

ing antibodies present in breast

I infections
milk of humans protect the newborn baby from i1l 2

(a) IgA (b) IgD

() IgE A (d) IgM.

The phenotypic ratio of F, generation in 2 Mendelian

monohybrid Ccross i‘s

(a) 2, 541 | (b) 3:1

(c) 9:3:3:1 d 1:2:1.

Industrial melanism is an ‘example of

(a) Divergent evolution  (b) Convergent evolution

(c) Natural selection (d) Mutation.

Which one of the following is an example of criss-cross

inheritance ?
3) Haemophilia (b) Thalassaemia

(c)  Colour blindness (d) Both (a) and (c).

NS-BIOS ' 12 of 28
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(ix)
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Archaeopteryx is considered to be 'missing link' between

which of the following groups of animals ?

(@) Reptilia and Mammalia

(b) Pisces and Amphibia

(c) Reptilia and Aves
(d) Amphibia and Reptilia.

Which plant breeding method is used by human from

ancient time ?
(a) Hybridization (b) Selection

(c) Mutation (d) None of these.

Plasma cell is related to which type of immunity ?

(a) Cell mediated immunity
(b) = Humoral immunity
(c)  Innate immunity

(d) None of’these.
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(xi)

(xii)
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Ti plasmid is extracted from which one of Fhe following
organisms ?
(@) Bacillus thuringiensis

(b)  Agrobacterium tumefaciens

(c-) E. coli

(d)  Mycobacterium bovis.

Polio vaccine is prepared by which one of the following

processes ?

(@) Attenuated virus (b) Dead pathogen

(c) Surface chemical (d) Toxoid.
Which one of the following is one of the primary conditions

for biodiversity hotspot ?

(a) Presence of at least 1500 endemic spp. of vascular

plants
(b)  presence of different types of animals
(c) both (a) and (b) are correct

(d) both (a) and (b) are incorrect.
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(xili) Warm and humid nature is characteristic of which one of

the following ?
(a)‘ Temperate forest (b) Tropical rain forest
(c) Coniferous forest * (d) Arctic tundra.

(xiv): Which one of the following is an example of most stable

ecos’ystem ?
(a) Ocean (b) Desert
(c) - Forest (d) Pond.

( Shortl Aﬁswer Type Questions )

Answer the following questions in one sentence each

( Alternatives are to be noted ) : , 1x4 =4
(i) What do you mean by Implantation ?
(i) Give an example of deviation from Mendelism,

OR

Mention the sequence of nucleotides of Pribnow Box.

NS-BIOS | 15 of 28
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(i)  Give the name of a symbiotic Ny fixing cyanobacterium.
OR
What is VAM ?

(iv)  Differentiate  between templorary and permanent

parasites.

( Subjective / Descriptive Type Questions )

Answer the following questions in short ( Alternative‘s are to be

noted ): s . 2x5=10
(i) What do you mearn by Xenogamy ? What is apomiqtic_seed ?
1+1

OR

What is spermeogenesis ? In which stage, human embryo is

implanted on the wall of uterus ? 1+1
(i) What is Test cross ? Explain with example. '+ 13

(iiij What is the full form of LSD ? Which type of drug is this ?.

1 +.1
OR
What do you mean by mixed composite fish culture ?
NS-BIOS 16 of 28,
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(ivy What do you mean by gene cloning ? Which enzyme is used

in PCR process ? 1+ 1

(v}  What do you mean by parasitism ? Mention one parasitic

adaptation. - 1+1

OR

Mention how ozone layer is depleted in the atmosphere.

4. Answer the following questions ( Alternatives are to be noted ) :

3x9 =27

(i)  Describe in brief the origin and development of fruit. What

is the significance of seed formation ? 2+ 1

(i) What do you mean by Morula, Blastula and Gastrula ?

1+1+1

OR

Mention two changes in ovary and one change in uterus

during menstrual cycle, 2+ 1

(ili) Mention different steps in DNA packaging during

chromosome formation.,

NS-BIOS
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‘sqion | biasis. What is
(iv) . Mention the mode of transmission in amoc

2+1
the reason of AIDS ? ,

OR
Mention in brief the process of hypophysation. Write the
scientific name of an exotic carp. 2+1
(v}  What do you mean by tissue culture ? What is
micropr01:>r=1gation':D ' | 2+ 1
(vi) Mention in brief the process of Biogas production. Mention
one disease of poultry bird. _ 2+1

OR

What do you mean by SCP ? Give one example. What is

Biofortification ? 1+1+1

(vi) What is the significance of Restriction Endonuclease and
Reverse Transcriptase enzymes in Recombinant DNA

Technology ? What is Plasmid ? 2+ 1
OR

Mention three applications of plant. biotechnology with

examples.
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(

(ix)

Answer the following questions (

PR N RN R L R T e Y

BIOS-23/XI11/2029(04)-NS

viii) Mention briefly any two processes of vaccine production.

What do you mean by Bt cotton ? . et

Meption the main r'easons for Biodiversity conservation.

What is‘ecological niche? . 2+1
OR

Mention briefly the steps of plant sﬁccession.

Alternatives are to be noted ) :

Sx3=15
Describe the histological structure of human ovary with

labelled diagram. What is menstrual cycle ? 4+ 1

OR

Describe with labelled diagram the origin and development

of male gametophyte of angiosperm. Mention the function of

two male gametes. 4+ 1
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(i1)

(i)
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ac operon. what are the

Describe briefly the structurc of 1

A . : )
functions of the following enzymes 111 DNA replicationt

(a) Helicase
(b) Primase. 3+2

OR

Mention the contributions of Charles Darwin in relation to

Biological evolution. Mention the embryological evidence of

evolution. 3+ 2

What do you mean by Greenhouse effect ? What aré the

different ways by which Global Warming takes place ?

2+3
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(v)

(vi)

(vii)

(viii)

(ix)

(c) 9:3:3:1

, S ST € ‘
Augeiny waaR R A 1, T e
4 |
(a) ol (b) 3
@ 1:2:h

qvafie St T S €

@ o b (o) SR

() ST )07 (d)rﬁaé’”ﬁ”

et 1 i - PR T SR € 7

(a) IRl (b) remrarE

(c) T d) (a) T (c) AT
ﬁmmﬂﬁﬁwﬁmwﬁﬁam%ﬁéﬁwér‘ﬁqﬁm
R’ & Pt f AT % 2

(@)  ffomn qun wiferr (b)) TR e QiERfeEn

© R anis @ R e e

el el H A R S h-a 3R9g were fafa € 2
(a)  HI (b) @O
(o) S C(d) TH ORI -‘—ﬁﬁl

TATTHT el [ TR &l STHSIIT & TR ¥ 9
(a) O B MR R ST

(b)‘ AT TR

(c) SIS STHIT

(d) T U FE W
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ﬁwﬁﬁﬁu@ﬁaﬁﬁwﬁgwﬁwm? ?
(&)

(b)  Agrobacterium tumefaciens
(c) E. coli

(x)

Bacillus thuringiensis

(d) Mycobacterium bovis.
o) T R R e g e @ S e e s & 2

(@) ot famoy (b) T T

() HdE Tq™HE

(d) <IETgsS|
st Cn N i ¥ € 2
(xii)  SEISTRRE &-we F o fe 7 3 2 T |
(a) Woedt IRWE % wW ¥ FW 1500 WHF WA Bl
Jufeid

(d) (a) T (b) ST T
) P 6 @ Feweht TR AT SR O HARIOTE 2
(xiii .
i e o (b) IWT HfedHi a9t 99
( ¥FEd 4, T
C
(xiv) ﬁwﬁﬁm@mmm%?
J— | (b) WA

. d) el |
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( Y IR 9 )
2. Froaffan st % o e o A i (R T W
ST S < 1x4=4
() 9o | T ey ¥ )
(i) oefer  foert 71 o 3w L
reqar
=it <o & yfeeratersel & w0 &1 Seoi@ H
(i) T Feiel N, WS GEREE 6 A e |
e
VAM ¥ € ?

(iv)  STRITEY T Tl G o 37 i

( fawafTs / avirers ww )
3. frefaiEa weAt & 3w AT (GFfcas A W e $) © 945 = 10
(i) SR (Xenogamy) 1 F1 I ¢ ? TS (apomictic)

kb 1+1

Yy

e e & 7 =,
(i) S FHE HE ? I F Y WL F:Y | ik
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(i) LSD T 901 &9 97 § 7 05 o w1 QT E 2 1+1
Finlel |
TR T (composite) TeG Tei 1 T SO £ 2

(iv) S AT FT R S ¥ 2 PCR WEH W -G GSTRH
TG B ¥ 2

1+1
(v) S & T S ¥ 2 T o e i IeenE
1+1
SreraT
AIHSHA H AT WA 1 &7 4 Gl & 2 oo L |
4. TG Sl % I T (3HRTE Tl W Em ¥) : 3x9 < 07

() T T ITTH qAT TR W FHT F ==t w1 A Smier @

TN 2+ 1

(i)  HIEE, ST T LS T ST ¥ 2 o R

e
TR & AN e % < e mivg o o :
_mav—v‘r@ﬁl 5t
(i) aﬁmﬁqéaﬁnivr%mnmﬁéﬁn%%rmmﬁw s
F |

v) st 3 W A e W I W wew

FHROTE ?

2+
AT
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TRUFRRYA @i Wiwar H 9elv ¥ Ieor@ &L | T Uil Fd
& Jeies A o 2+ 1

TR WA B A & ) G FE 2 2+ 1
TR IR W AR T GET § Seorg e | Uiegt el @t T
AR T IoohE H| 2+ 1
3t
SCP &1 FI1. 3R ¥ 2 Toh SIEAVT § | SAGIERRR 1 & 2

‘ D ) 14141
JESit DNA Tt 8§ gaer deigfaerst aur fad siafreg
USTISHT o7 0T °1eqd & 2 WlRAs ¥ 2 " 2+1

3rera

o ari-aEAR F A SR B sae % ww see
|

(viii) 21T SeareA i el <t faft 1 dedn o seot@ 11 Bt T

- (ix)

q R ANE T ? 2+ 1

Sta fafauar W&o & g1 HRUT H SeoiE w | il e
(Ecological niche) T & ? 2+ 1

HAAT

3'%_’*15 HIhHIT (Plapt succe'ssion) F UM T Joor@ H |
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5 frfeiEd T¥l & I {0 (A WA WM ) : 5x3 =15

@) REE R % WY AW SUeNE % Sadd e A
Y| TEsh /¢ ? 4+1

| avera

T % TTHRIREE T Sg9d el fae Tl ATt

fo g1 T S Y & wE H Seeid e | 4+1

(i) ©® SMRA (lac operon) % T H Hed H IoH HI
DNA Wiaepia & =7 detredt & o1 s ¢ 2
(a) @etehe
(b)  STEHS |
e
Sfepa fowm & T9Y H A" Sied % Al &1 I $E)

{6 &% 9T I9F (embryological) T HT IeoiE FI |

3+2
(iii) TURTSE U9E @ R W ¥ ? fg Fomm e & fafyw |t
FE ? 2+3
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